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BENXTHEE
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(#18) BKETH 2B ES (BA1:H)
HEse FEA RIEETHEE i p s

=| [BREA 3,921,000 3,891,000 30,000
BEHHTEIRA 401,000 175,000 226,000
RESRHBEIRA 34,778,000 35,772,000 A 994,000

E S ZELEILA 67,753,000 62,193,000 5,560,000
HEQA 130,000 130,000 0

= | IR |[rEERIRE IR A 26,851,000 26,345,000 506,000
EAEHERZRA 26,800,000 26,800,000 0

% REGUBERA 22,109,000 20,381,000 1,728,000
EHIBEZIIA 4,100,000 4,511,000 A 411,000

A EEELY—F REFZITA 33,500,000 35,616,000 A 2,116,000

= SIAERSEIA 12,000 12,000 0
DDA 194,000 194,000 0

& EXRFHRAG (1) 220,549,000 216,020,000 4,529.000
AGEXZH 164,980,000 175,117,000 A 10,137,000

% BEEBEYH 23,511,000 22,647,000 864,000

X |EHEXH 24,870,000 25,814,000 A 944,000

i} MEXEEEYH 4,100,000 4,511,000 A 411,000
EESESESSEREEXS 800,000 800,000 0

% H ST H 6,805,000 4,813,000 1,992,000
BEFEHTHE 2 225,066,000 233,702,000 A 8,636,000

= EETFHEFITES =(1)12) A 4517,000 A 17,682,000 13,165,000
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E A [REREIAE @) 0 0 0
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| (R EEEX m ) 0 0 0

X R EEEES T EE 6)=(4-5) 0 0 0
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2 A

g ZDHMDEFRAL (D 0 0 0

Iz BuEERH 11,000 11,000 0

P

%

I | H ZTRMDFEEFHE (8) 11,000 11,000 0

X oo ESHE S IR EE (9=(1)-8) A 11.000 A 11,000 0
FimEZH (10) 76,702,000 61,237,000 15,465,000
LHE S INT =S 1)=(3)+(6)+9)-(10) A 81,230,000 A 78,930,000 A 2,300,000
R AR ES (12 81,230,000 78,930,000 2.300,000
LHRFHEEES 11)+12) 0 0 0
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(B E 48 18 (B)SH 45 38318

(#18) BKATH BN HER

(HF0 3FE)

(BT M)
NERIREE EAELE2—
SEIA 3,921,000 0 0
BFHEIRA 400,000 0 0
BEESEMBEEA 34,778,000 0 0
ZEEIA 12,937,000 30,816,000 0
ERIA 84,000 0 46,000
= NTHEEREERA 0 26,851,000 0
FEANBUEEIA 0 0 26,800,000
o BRERUEERA 0 0 0
MHXIESEREA 0 0 0
BEERUY—ERZEEEIA 0 0 0
iz T EIISERE RPN 10,000 1,000 0
FRHDIA 115,000 0 78,000
& SREBIMAE (1) 52,245,000 57,668,000 26,924,000
AFEZH 42,972,000 61,855,000 4,862,000
) HEEIH 2,807,000 680,000 15,117,000
EHEXM 9,820,000 3,795,000 7,160,000
iy e XEEETH 0 -0 0
HEEESRAISEEETH 800,000 0 0
% Bipk& Tl 6,805,000 0 0
EEFERHA 2 63,204,000 66,330,000 27,139,000
EEFHEENTEE Q=12 A 10,959,000 A 8,662,000 A 215,000
it
EJ'XL
B
f _ _
= FEEREEZNAG @ 0 0 0
bl
X
%
llﬂ en,gzﬁu: =
REHEEXTHE (B) 0 0 0
% GEREEENSEE 005 0 0 0
%
) RRESEBASIA 11,000,000 8,000,000 0
fi
)
;—‘J Z OO EBRALT (1) 11,000,000 8,000,000 0
(= BUEEXH 10,000 1,000 0
& WRRSRERARRH 0 0 2,000,000
)
i DO Z HET (8) 10,000 1,000 2,000,000
X FDHDEHESINTEEE (9)=(7)-(8) 10,990,000 7,999,000 A 2,000,000
[ FEEXH (0) 11,261,000 18,337,000 5,785,000
LEAERINF EFESET (11)=(3)+(6)+(9)-(10) A 11,230,000 A\ 19,000,000 A 8,000,000
Bk R IhE = ikE (12) 11,230,000 19,000,000 8,000,000
HERTINEEES (1)+(12) 0 0 0
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(#48) BKETHEEL HER

(BLAL:FD
3 O
*iﬁm"l{’ﬁ%ﬁﬁ Wgﬁmgllﬁi g%aﬁn D+
0 0 3,921,000 3,921,000
0 1,000 401,000 401,000
0 0 34,778,000 34,778,000
0 24,000,000 67,753,000 67,753,000
0 0 130,000 130,000
0 0 26,851,000 26,851,000
0 0 26,800,000 26,800,000
22,109,000 0 22,109,000 22,109,000
0 4,100,000 4,100,000 4,100,000
0 33,500,000 33,500,000 33,500,000
0 1,000 12,000 12,000
0 1,000 194,000 194,000
22,109,000 61,603,000 220,549,000 220,549,000
14,518,000 40,773,000 164,980,000 164,980,000
3,696,000 1,211,000 23,511,000 23,511,000
191,000 3,904,000 24,870,000 24,870,000
0 4,100,000 4,100,000 4,100,000
0 0 800,000 800,000
0 0 6,805,000 6,805,000
18,405,000 49,988,000 225,066,000 225,066,000
3,704,000 11,615,000 A 4,517,000 A 4,517,000
0 0 0 0
0 0 0 0
0 0 0 0
0 0 19,000,000 A 19,000,000 0
0 0 19,000,000 A 19,000,000 0
0 0 11,000 11,000
6,000,000 11,000,000 19,000,000 A 19,000,000 0
6,000,000 11,000,000 19,011,000 A 19,000,000 11,000
A 6,000,000 A 11,000,000 A 11,000 0 A 11,000
10,704,000 30,615,000 76,702,000 76,702,000
A 13,000,000 A 30,000,000 A 81,230,000 0 A 81,230,000
13,000,000 30,000,000 81,230,000 81,230,000
0 0 0 0 0
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EEWMXTPHESE

(B)SH 348 1B (B)FH 45 3A31A

HH 3EE)

AERBLRR X 5 (B4 D
, - Hix¥#HE PHEA ASEE A5 B =

SBIA [ 3,921,000 JI[ 3,891,000 1{[ 30,000 ]
FEREHEIA 3,390,000 3,360,000 30,000
EHEBEIA 531,000 531,000 0

FifE A [ 400,000 1{[ 174,000 1i[ 226,000 ]
FEEEEIHRSWA 400,000 174,000 226,000

BERBHBISIA [ 34,778,000 1|[ 35,772,000 1i{ A 994,000 ]

= HR BT EIRA ( 28,000,000 ) |( 31,200,000 )|( A 3,200,000 )
BT4B BN A 28,000,000 * 31,200,000 A 3,200,000

Bt EEBEERBSIA ( 512,000 ) |( 512,000 ) |( 0)
Bt EEREHISRA 512,000 512,000 0

HEZEEHSERA ( 6,266,000 ) |( 4,060,000 ) |( 2,206,000 )
—RESESERA 5,466,000 3,260,000 2,206,000
BARETHHOESERA 800,000 800,000 0

ZHERMA [ 12,937,000 ]|L 13,823,000 ]|L A 886,000 ]

£ MEFREZRASRA ( 4,799,000 ){( 5,170,000 ) {( A 371,000 )
ZDMOERZEETINA 4,799,000 5,170,000 A 371,000

HREHZAERA ( 7,302,000 ) [ 7,880,000 ) |( A 578,000 )
BIZFERMA 7,302,000 7,880,000 A 578,000

HMEFRAHZESIA ( 836,000 ) ( 773,000 }{( 63,000 )
ELENBEITRWA 450,000 450,000 0
BHFREENA 386,000 323,000 63,000

BEWRA [ 84,000 1|[ 84,000 1|[ 0]
= F FRLA 84,000 84,000 0

SHAERUESRA [ 10,000 1|[ 10,000 J|[ 0]
SHARRESESNA 10,000 10,000 )

ZOMDILA [ 115,000 1{[ 115,000 1i[ 0]
ZAFBSEIA 35,000 35,000 0

ATA ( 80,000 ) | 80,000 ) [( 0)
HiIRA 80,000 80,000 0
EEFEHPNAG (D 52,245,000 53,869,000 A 1,624,000

o AEEIH [ 42,972,000 1il 47119000 1| A 4,147,000 ]
% B RB T 1,200,000 1,200,000 0

BMEHAHZH ( 11,753,000 ) [ 17,041,000 )|C A 5,288,000 )
BEEHIH 10,238,000 14,630,000 A 4,392,000
S d] 1,515,000 2,411,000 A 896,000
BEESXH 4,201,000 6,172,000 A 1,971,000
EEHREKRERIH 19,519,000 15,557,000 3,962,000
= BREEHE XN 900,000 1,260,000 A 360,000
HREENEXH 5,399,000 5,889,000 A 490,000

BEEEYH [ 2,807,000 J{[ 2,827,000 1|[ A 20,000 ]
BEERWH 596,000 596,000 0
RIS AE T H 478,000 478,000 0
HERERSEXH 224,000 224,000 0
FIEHEH 137,000 137,000 0
EEHSH 202,000 202,000 0
5 HHEH 80,000 100,000 A 20,000
EE b A 640,000 640,000 0

B ZAEREETH ( 450,000 )|( 450,000 ) |( 0)
BB EEZREREXN 450,000 450,000 0

EREXH [ 9,820,000 ][ 10,446,000 1|[ A 626,000 ]
EMEEETH 1,248,000 1,218,000 30,000
REEEXH 99,000 99,000 0
EMREXH 292,000 291,000 1,000
3 EEHEREXH 879,000 893,000 A 14,000
RIS ARE T H 656,000 656,000 0
EBEEXH 230,000 230,000 0
BEEERESH 742,000 761,000 A 19,000
SEBXH 280,000 280,000 0
EFERBIH 812,000 1,272,000 A 460,000
FHHXH 101,000 99,000 2,000
BisHzH 258,000 248,000 10,000
EEHEH 1,468,000 1,826,000 A 358,000
2 BHEESH 662,000 562,000 100,000
FEfRAETH 1,780,000 1,400,000 380,000
BTHTH 40,000 338,000 A 298,000
HHEXH 50,000 50,000 0
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BRNXTEE

(B)G3 348 1H (E)$SH 4F 3A31H
(57 3EE)

(#48) B KETHE KBRS
REHLRE S

(B M)

FHEE AEETHE

173,000 173,000 0
50,000 50,000 0
ERBEEEIEBEENH 800,000 ][ 800,000 1{[ 0]
BEETHHVENEEEETH 800,000 800,000 0
b-2 BIRi ST 6,805,000 1{[ 4,813,000 1{[ 1,992,000 ]
B 6,805,000 } |( 4,813,000 ) |( 1,992,000 )
RS F47EMABI RS H 370,000 370,000 0
EURAAREXH 1,739,000 1,953,000 A 214,000
BUHEREXH 250,000 250,000 0
BUERBESEH 4,446,000 2,240,000 2,206,000
BEFETHET (2 63,204,000 66,005,000 A 2.801,000
= EEEEERIEELE 3)=(1)~2) A 10,959,000 A 12,136,000 1,177,000
B
g A EREREE A @ 0 0 0
[
K1X
3%
I | R R RS mat () 0 0 0
X EREREEESINTELE 6=4-5) 0 0 0
Z
) MERSEBAEIRA 11,000,000 J|[ 4,000,000 1|[ 7,000,000 ]
e RERSEBASRA 11,000,000 ) |( 4,000,000 ) {( 7,000,000 )
tt ZABH AR S HBRASIRA 2,000,000 4,000,000 A 2,000,000
D REZZNARSBBASNA 6,000,000 0 6,000,000
= | A | R NEERLE RS ERAFIRA 3,000,000 0 3,000,000
B ZDDEEURAE (7) 11,000,000 4,000,000 7,000,000
2| |mugEH 10,000 1|[ 10,000 1| 0]
& | X | AEBEIEESRE 10,000 10,000 0
)
sl ZDHOFEEE HIE (8) 10,000 10,000 0
X ZRMOEEE ST ELE (9)=(1)~8) 10,990,000 3,990,000 7,000,000
FimEZH (10) 11,261,000 6,684,000 4,577,000
WHIE DN =4S 511 1)=(3)+(6)+(9)-(10) A 11,230,000 A 14,830,000 3,600,000
BHEXFILESES (12) 11,230,000 14,830,000 A\ 3,600,000
LHIKFHERRS (11)+(12) 0 0 0




(1t48) BKETH SR RES

E2INZTFEE
(ENSF 35 48 1B (E)SH 44£E 3R31H

(7 3FRED)

NHEREEE (BT )
‘ HEEE THHE MEETEE HiE s
ZHEWA [ 30,816,000 ][ 28,370,000 J{[ 2,446,000 ]
HRETA ZEEE WA ( 30,816,000 ) |( 28,370,000 ) {( 2,446,000 )
BTSZEERANA 30,816,000 28,370,000 2,446,000
= NERBBRRA [ 26,851,000 1|[ 26,345,000 11{[ 506,000 ]
BEENEHIA ( 6,958,000 ) {( 5,926,000 ) [( 1,032,000 )
(M EEHmBURAD ( 6,180,000 ) [( 5,173,000 ) |( 1,007,000 )
rEEREIA 6,180,000 5,173,000 1,007,000
(FIRERESMA) ( 778,000 ) |( 753,000 ) |( 25,000 ) }
| TEREREA R 100,000 143,000 A 43,000 |
o NERARRA (—) 678,000 610,000 68,000
BENEIENEHRA ( 16,159,000 ) |( 15,849,000 ) |( 310,000 ) ‘
BENEZENMEHRA 10,007,000 10,165,000 A 158,000
NEFHIZENERRA 6,152,000 5,684,000 468,000
NEFH-BEEETEREGEERA ( 3,734,000 ) |( 4,570,000 ) |( A 836,000 )
EBEERA 3,360,000 4,096,000 A 736,000
F A B2HESRALE) 44,000 33,000 11,000
HEEHBPSIRA(—R) ' 330,000 441,000 A 111,000
ZHFBREERIRA [ 1,000 11[ 1,000 1|[ 0]
SHCR AR HEIRA 1,000 1,000 0
EZFHRAG (D 57,668,000 54,716,000 2,952,000
B ANEETH [ 61,855,000 1{[ 60,313,000 ]|[ 1,542,000 ]
BEBHTH ( 29,134,000 ) |( 28,427,000 ) {( 707,000 )
Lo A=RET o el 25,779,000 25,151,000 628,000
HFELAXH 3,355,000 3,276,000 79,000
BEESXH 10,317,000 10,070,000 247,000
= SFEEBBRRSXL 12,493,000 12,033,000 460,000
REHFHEXH 1,824,000 1,860,000 A 36,000
RERMNEXH 8,087,000 7,823,000 164,000
EEBTH [ 680,000 1([ 675,000 ][ 5,000 ]
HEBRXH 28,000 28,000 0
FREEEXH 10,000 10,000 0
& HREXH 15,000 15,000 0
EFELY = Al 176,000 176,000 0
HEREBREXH 15,000 15,000 0
EREXH 100,000 100,000 0
X | BBzl 66,000 61,000 5,000
HHESH 190,000 190,000 0
% HHMESTH 80,000 80,000 0
BHEETH [ 3,795,000 1{{ 4,238,000 1[I A 443,000 ]
MEXHEETH 20,000 18,000 2,000
BHEHIREX M 224,000 258,000 A 34,000
EFHAEREXH 309,000 309,000 0
Y KENBBEZH 48,000 48,000 0
EEERN 300,000 300,000 0
W BIEEREXH 283,000 281,000 2,000
FHEHIH 92,000 92,000 0
FRIEHZH 306,000 378,000 A 72,000
EEHRTH 1,258,000 1,367,000 A 109,000
* HpEH 450,000 650,000 A 200,000
FEBAETH 69,000 100,000 A 31,000
BRI 382,000 382,000 0
HEBETH 54,000 55,000 A 1,000
EEFEHTHE 2 66,330,000 65,226,000 1,104,000
= EEFEFESINTEL 3)=(1)-(2) A 8,662,000 A 10,510,000 1,848,000
& | 4y
B
ﬁ A FERE S RAT @) 0 0 0
Iz
L | X
)
| & B EEX T (5) 0 0 0
2 EREEEESINTERE 6=(4)-6) 0 0 0
z




AR TFEE

(B)$# 34 48 18 (B)ST 45 3A31H

(#48) HKETH KB R ES

(FF0 3EE)

TEREEE
HEHg FHE MEETESA B
HERSBEBEASIA [ 8,000,000 1{[ 3,000,000 1{[ 5,000,000 ]
| MERSERASIRA ( 8,000,000 ) |( 3,000,000 }{( 5,000,000 )
o FRIMEZFILE RS ERASIRA 8,000,000 3,000,000 5,000,000
g A F RO FEEIRAET (7) 8,000,000 3,000,000 5,000,000
Iz BUEEYH [ 1,000 1|[ 1,000 11{[ 01
£ X| BREBABIAERH 1,000 1,000 0
%
I | H Z OO EE T HET (8) 1,000 1,000 0
X zohoEHE2NEER ©=(1)-(8) 7,999,000 5,999,000 5,000,000
FlEEXRE (0 18,337,000 13,389,000 4,948,000
SHESIINTEE S D=(3)+6)+9)-(10) A 19,000,000 A 20,900,000 1,900,000
BIRTIVESERS (12) 19,000,000 20,900,000 A 1,900,000
LHERTIESES (11)+(12) 0 0 0




AEWXTHEE

(B)$% 3E 48 18 (E)SH 4F 3831H

(#48) KB R B ES

(R 3ERE)

A \BHtE 52— (BB M)
‘ HEdEE THEE MEETHES i P -+
FZEIA [ 46,000 ][ 46,000 1|[ 0]
= FI IR A 46,000 46,000 0
ZABUBERRA [ 26,800,000 1{[ 26,800,000 1|L 0]
1R SZHBBENA 26,500,000 26,500,000 0
FTOOEZEIRA ( 300,000 ) | 300,000 ) | 0)
£ O DOF FBEIRA 300,000 300,000 0
FO/MDIRA [ 78,000 1|[ 78,000 1|([ 0]
Al HIA ( 78,000 ) |( 78,000 ) |( 0)
. HIRA 78,000 78,000 0
E| [EEEFNAT Q) 26,924,000 26,924,000 0
ANFEZH [ 4,862,000 1|[ 4,861,000 1{[ 1,000 ]
B FRHBRIGEIH 4,134,000 4,134,000 0
BEAEFHSTH 60,000 60,000 0
REENEXH 668,000 667,000 1,000
BEHETH [ 15,117,000 1|[ 15,106,000 1{[ 11,000 ]
Iz HEEXH 60,000 60,000 0
ENRI SRS T 120,000 120,000 0
KEXRBERY 4,470,000 4,470,000 0
* HEREHRESRN 220,000 220,000 0
% BB 300,000 300,000 0
¥REREXH 7,883,000 7,871,000 12,000
FHHZH 72,000 72,000 0
¥ RiEH T H 222,000 222,000 0
HFE T H 1,770,000 1,771,000 A 1,000
ERERH [ 7,160,000 1|[ 7,220,000 1|[ A 60,000 ]
REZBEEIH 360,000 360,000 0
Wy | SHEAERERH 246,000 246,000 0
BIEEHEN 610,000 610,000 0
EHRREXH 5,040,000 5,160,000 A 120,000
¥ B3 877,000 817,000 60,000
HEEF 27,000 27,000 0
BRFHTHEA O 27,139,000 27,187,000 A 48,000
= EEFHESINTEE 3)=(1)-2) A 215000 A 263,000 48,000
# |y
B
g A BRSO @ 0 9 0
Iz
F| %
2
W2 | B [FEE R mi ) 0 0 0
x| BREEEEASRXEE =06 0 0 0
%
)
|
)
g N RO EEAT D 3 5 5
Iz HERAHBRAEXE [ 2,000,000 1|[ 4000000 1|1 A 2,000,000 ]
k|| BRRSEBASIH ( 2,000,000 ) {( 4,000,000 )|¢ A 2,000,000 )
3 AEMERSHBAEXH 2,000,000 4,000,000 A 2,000,000
iy | ZFDHOEBFHET (8) 2,000,000 4,000,000 A 2,000,000
k3 ZRMQESHESIEZH (9=(7)-8) A 2,000,000 A 4,000,000 2,000,000
FEEZTH (10 5,785,000 5,137,000 648,000
WA ST 22 S 51 1)=(3)+H(6)+(9)-(10) A 8,000,000 A 9,400,000 1,400,000
HIHEXILVESES (12 8,000,000 9,400,000 A 1,400,000
—=‘: R FTIEEES (11)+(12) 0 0 0




BEENXPHE

(B)SH 3548 18 (E)SH 4£E 38318
(5 &R

(#18) BKET 2B HES
RESZE

(B Am)

REBUTERA 22,109,000 1|[ 20,381,000 ]|[ 1,728,000 ]
gy | EREERRA 14,988,000 ) |( 14,946,000 ) |( 42,000 )
BERERREHERA 14,988,000 14,946,000 42,000
E FTOMDEEILA 7,121,000 ) |( 5,435,000 )|( . 1,686,000 )
AL _ZOHOF AR A 7,121,000 5,435,000 1,686,000
= BETFEFILAG (1) 22.109,000 20,381,000 1,728,000
AFEXRE 14,518,000 1|[ 18,547,000 Ti[ A 4,029,000 ]
Bl ERHBEKERH 13,947,000 17,966,000 A 4,019,000
BEAFHETH 60,000 60,000 0
= IRERFIRX 511,000 521,000 A 10,000
EXEBITH 3,696,000 1|[ 2,902,000 1|[ 794,000 ]
HEREXH 3,561,000 2,718,000 843,000
& | X | WEREXH 0 49,000 A 49,000
ERESH 50,000 50,000 0
3 RIEHTH 85,000 85,000 0
EREBEXRH 191,000 1|[ 191,000 1{[ 0]
' THEMRETH 22,000 22,000 0
I H| BSREESERH 48,000 48,000 0
BEEREXH 101,000 101,000 0
A FEBAETH 20,000 20,000 0
SEFHTHE Q) 18,405,000 21,640,000 A 3,235,000
BEFHESNTERE O=(1)-) 3,704,000 A 1,259,000 4,963,000
i
B\
B
g A [FREREA @ 0 0 0
B2
%)
) B R EmEE=EE (6) 0 0 0
X R EEE SN =5 (6)=(4)-() 0 0 0
%
1))
| ™
2 A
g Z DD EETALT (7) 0 0 0
= REXRSEBRASLTH 6,000,000 1{[ 0]ll 6,000,000 ]
& | X | BRARSHBRASIH 6,000,000 ) [( 0)( 6,000,000 )
2 AEMARSEBASTH 6,000,000 0 6,000,000
I | TRHDFEENT HET (8) 6,000,000 0 6,000,000
b2 ZTOMDFEBESINT 48 (9=(7)-(8) A 6,000,000 0 A 6,000,000
FHEEZH (10) 10,704,000 6,741,000 3,963,000
SEIE ST 22 S (1 D=(3)+6)+(9)-(10) A 13,000,000 A 8,000,000 A 5,000,000
R ZIESESE (12) 13,000,000 8,000,000 5,000,000
HHAXFTHESRES (11)+(12) 0 0 0




(#48) B KETH REL H RS

BEINEZFEE
(B)$# 34 48 1B (B)SH 4F 3H31H

(5 3EE)

HiEH N EZRT (B F)
HERE TEHE MEEFEE B e
HFHEILA [ 1,000 1{[ 1,000 1|[ 0]
BEEEFMERA 1,000 1,000 0
ZEEEIA [ 24,000,000 1{[ 20,000,000 ]i[ 4,000,000 ]
HRETHZEEERA ( 24,000,000 ) {( 20,000,000 ) |( 4,000,000 )
= BTS2 EERULA 24,000,000 20,000,000 4,000,000
HEXEBERA [ 4,100,000 1|[ 4,511,000 1|[ A 411,000 ]
AHZRBRINA 4,100,000 4,511,000 A 411,000
I (EEEL T —E REERMA [ 33,500,000 1|[ 35,616,000 1| A 2,116,000 ]
B ZEGEARRA ( 33,500,000 ) |( 35,616,000 ){( A 2,116,000 )
w AFEFR A RRA 27,600,000 29,716,000 A 2,116,000
EHEMEIER A BIA 5,900,000 5,900,000 0
SZHR BRESEIA [ 1,000 1|[ 1,000 ]|[ 0]
A ZRARREISERA 1,000 1,000 0
ZDRDUIA [ 1,000 I|[ 1,000 }{[ 01
MUTA ( 1,000 ) [ 1,000 ) | 0)
= AEARA 1,000 1,000 0
BEFFIRAG (1) 61,603,000 60,130,000 1,473,000
ANEEXH [ 40,773,000 1i[ 44,277,000 1[I A 3,504,000 ]
BERHTH ( 14,458,000 ) {( 17,842,000 )|C A 3,384,000)
L A=RES ) 13,017,000 16,061,000 A 3,044,000
)] HEHEH 1,441,000 1,781,000 A 340,000
BEESXH 5,165,000 6,360,000 A 1,195,000
FFEEBERERH 15,162,000 13,389,000 1,773,000
EREHEEREYH 937,000 1,032,000 A 95,000
AEENEX W 5,051,000 5,654,000 A 603,000
EREBETH [ 1,211,000 1[[ 1,137,000 1{[ 74,000 ]
Iz REGFEEIH 85,000 81,000 4,000
BRBEETH 400,000 416,000 A 16,000
AKERFEZH 40,000 40,000 0
HESEERBEYH 70,000 65,000 5,000
BREXH 100,000 100,000 0
HREHEH 96,000 95,000 1,000
& HERAEXH 60,000 60,000 0
EBEETH 360,000 280,000 80,000
X |EHEXE [ 3,904,000 1|[ 3,719,000 ]|[ 185,000 1
RETEEXH 41,000 49,000 A 8,000
PHEMIRE X 246,000 359,000 A 113,000
2 ERHEREXYH 683,000 563,000 120,000
IREFEE T H 36,000 36,000 0
EHEETH 50,000 50,000 0
FiEEREXH 337,000 334,000 3,000
ERTHERY 1,032,000 1,028,000 4,000
FHE 61,000 153,000 A 92,000
1y RIRHZH 236,000 197,000 39,000
i EEHEH 787,000 694,000 93,000
BHEESN 110,000 60,000 50,000
EHAERH 142,000 80,000 62,000
o35 S5 ) 70,000 40,000 30,000
HEBEM 63,000 66,000 A 3,000
% MEH 10,000 10,000 0
BEEIEEEYH [ 4,100,000 1|[ 4,511,000 1|[ A 411,000 ]
HETEBEERERER S ( 4,100,000 ) ¢ 4,511,000 )|( A 411,000 )
TR iR R R Rl S 4,100,000 4,511,000 A 411,000
SEFHTHH @ 49,988,000 53,644,000 A 3,656,000
= BEEFHESITELE Q)=1)-2 11,615,000 6,486,000 5,129,000
g i)
ﬁ% A S0 Rk (A A =
= EEREHESEIAG @ 0 0 0
Iz
& | X
%
in | B [ mE mE (5) 0 0 0
X EREEEESIRTE5 0)=4)-05) 0 0 0
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AN TFEE

(B)SH 35 48 1B (B)SH 4% 3A318

(##8) B KA B ES

(FH 3EE)

B )EERT (B[
'z
»
it
n
g ZRMDEFRAE (D 0 0 0
Iz BERSEBASRH 11,000,000 1{[ 3,000,000 1{[ 8,000,000 ]
& BRRSMBAEIH 11,000,000 ) {( 3,000,000 ) (( 8,000,000 )
z FHURRSERAETH 3,000,000 0 3,000,000
Iz NERREENSRPEEASTTH 8,000,000 3,000,000 5,000,000
RO EE T HIE (8) 11,000,000 3,000,000 8,000,000
X FTRHDEBNERINFT ZEE (9)=(1)-(8) A 11,000,000 A 3,000,000 A 8,000,000
FliEEXH (10) 30,615,000 29,286,000 1,329,000
LB SINF ZEE A T D=()H6)+9)-(10) A 30,000,000 A 25,800,000 A 4,200,000
BiERTIERES (12) 30,000,000 25,800,000 4,200,000
LERYHEERS (11)+12) 0 0 0
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